2,

2.

3

It the number 1005xt is completely
divisible h_vl #, then the least integer at
the place of x will be : i

-{@a 0
b) 8
€} 16
d) 5

afs H@H 1005x4, 8 8 TH 7 @ fieg 2
Al x @ W W e Uy gl 2 |

fa) O

by =8
e)] 16
dl 5

On dividing a number by 4. the sum of
the quotient and the remainder is 8 and’
the sum of their squares is 34, Find the
number. :

[a) 28
.(h) 23
(€ 27
d) 21

febelt e W 4 [T & R AFEE T AT
@ A 8 & o e w913 34 § wE
T B | m b=
(a]
(B
) 27
@ 21

A three-digit number 2a3 is added to 326
to get a three-digit number 559, which is
completely divisible by 9. Find the value
of (5a - 2b),

faj 0
Jb) 2
(€l 6
d 8

28 |
23

(B-3)

Ja)

4.,

rrcﬁﬁ‘ﬁfmﬁaﬂﬁttmzaam‘razﬁﬁtﬂﬁ#w
ﬁﬁraﬁ#uﬁﬁanﬁhswaﬁ?amg%
quferay Ry BT & | (Sa- 2b) Tl HIT FiG

i |
fa) O
b} 2
e} 6
dl 8

Three friends A, B and C start running
simultaneously from the same point
around a cireular stadium, and they
complete one round in 24 sec, 36 sec and
30 sec respectively. After how much time
will they meet again at the starting point
1y

6 minutes
(b 8 minutes
(c)
(d) 15 minutes

& B A, BT ¢ 1F guen Wi § e
ts & g ¥ '@ T de AW B © ol
o % Ta9R TR 24 WEUE, 36 TEvE a9 30
Sieve A4 qu okt € fem g A 3 AR
ﬁsmgﬂ:ﬁ{ﬁ?

@, e fe

m 8 fe

o 12 fie

(d) 15 fA=e

A 20 m long wire is divided into two paris
in such a way that the length of one part

is % times the length of the other part.

What is the length of the longer piece 7

12 minutes

fa) 13.13m

(b) 13.16m

¢l 12'm
d) 125 m



20 ¥ @R aR W gy yan @t A v
R T & 6w wen ) o g o A

| g‘ﬁ B T g A g e
g?
@) 13,13 e
b)  18.16 #ey
() 12 %
(d) 12,5 Hex

Equal Mm to be distributed
among on ublic

But due to the absence uﬁpﬁnchﬂm
on that day, each child got 3 extra
wﬂuwmnym&!dﬂlmchﬂhﬂd

la) &
b)) 12
) @
(d)  Cannot be determined

mmwmm#w
We o o, o

mm m::bedt-tﬁhumdmmﬁ-ﬂ
f#ﬂ'?.!*“‘«w mmdﬂmtﬁm

7.

600 % 7 A, B, _c#mm mﬂﬁ
2% 20%. mmc¢m$ gﬁim

ﬂﬁm ﬂmﬂmwawmﬁwﬁ?
() 18O,

b 1609,

() [150%
(d 140%

B. Rohit set out on a journey for a certain

number of days having with him Rs,
3600 to spend., If he extended the

duration of his journey by 4 more days,
he would hmtﬂtmdun:hhwﬂ
by Rs. 30 per day. For how many days
did he go on the journey?

fa) 21

by 18




10.

10,

i) 1]
1B

1) 28
i1

[1]] -
28

Bl T A @ L 9Tl ]-!- up fedt 81

&,

ol el P & ot Pt Rl

Tl

st et e B AfR o W v @ iﬂm

frf @ wor iR qed o % i g A

a7 e Al e W fAwE
,‘;_’ P

(a)

18
ol e
18
7
T
11
d i
LT

Abhishek bought 55 books from one shop..
for Rs, 1,020 and B0 books from another

shop for Rs. 1.280. Whal is the average
price he paid per book ?

la) 20

) 194

() 25.34

(dy 18

afoas 4 55 fad @ A 1,020 1
afw g0 fawmt gud 5w § 1,280 % W @t
o R S ) ol R 20 3 W7
@y 20

) 19.4

() 25.34

d 18

' tive even
(1. The average af four consecu _
pnumbers s 27. Which la the largest

pumber AMoOng these ¢
a) 28
(b) 30
¢y 92
(d) 36
11, ﬁﬁm'rﬁrrﬂmmaﬁmaﬂ‘ﬂﬂz??l'ﬁﬁ#
) 78 s A=A 27
) 28
() 30
f¢) 92
dy 36

19, After 4 years, the ratio of ages of A and B
will be 8 : 7 and after § years, the ratio of
ages of A and B will be
11 - 15, then find thelr present ages,

(a) 16 years, 24 years
(b)
\e) 1B years, 28 years
) 14 years, 20 years

12 4 wE, A S B @ 37 W S 51 7 BN
s eal dm AR B I W S
T 1508 A T A AT S B

|5 years, 27 years

f (@ 16 7, 24
i By 186 ﬁ,_-.ﬂ?f af
@ e 20T

@) 149, 20t

{3, Rohan's income was decreased by 10%.

By what percent will the new income
have o be increased to bring his income
back to the previous level?

1
@) 12-—%

] 2

B 1%

8
fe) 10%
(d) 11%

LA

(B-5)



© 10%
) 11%

- A manufacturer fixed the marked
an article at Rs. 50 and sold it
E::wunt of 20%, If he has gained 25%,

price of




16

17,

1B

19.

)

¢ 1 sfvard R mn & 7
() ¥R
(by i
(e} TR A [ atn

Who is a female member in the group?
[al A

by B

e} C

dy D

Y W A W e g 7

a A

b) B

fe)
» (d) D

Which ol the [ollowing has

those of F's ?

@) D

() B

) A

(d)  None of these

Fifaftnr # 9w 09 F & W0 sfEm

i dwfeus Rvd §7
) D

) B
) A

Ad) & A

Disregarding which s the compulsory
and which is the optional subject, who
has the same two subjects combination
asF?

) A
(b}

= B R

(el

SUIE
compulsory and optional subjecls as

W

o, frrh ara @ @ o A Rl & g 8
siffrardt ot Armfe fivr v sar 8t 40 g97
() A
() B
el E
() D

20, Whieh of the lollowing groups has History

as the compulsory subject 7
m) ACD

b BCD

ey C.D

(] A B C

20, frefafee
gfterg & 7

fn) A CD

bl B.C D

) € D
) A BC

# ¥ fd g afyard fawa

21, Six members of a family namely A, B, C,

D, E and F are travelling together. B Is
the son of C but € is not the mother of B,
A and C are married couple, E is the
brother of C. D Is the. daughter of A. F is
the brother of B, How many male
mg;‘nbcrll_ are there In the family ?

@ 2

s 3

€ 4

a1

21, AR & wE TEW A, B, C. D, E @1 F 0%
o ar B% W £ B, C # 9E  afde

C.p
o # 78 81 AR ¢ @ e e ) E,
cu g R D AT W B FoBBH R
uftar # e qon wew 8 7
a) 2
) 3
o) 4
(@ 1

(B-7)




e

¢ (e (71 (1yee Tollowlng

Find 1 msSiliEs

g9, [Ae U § a6 (?) 1 ST W
1,8, 26, 49, 7, 121
fal] 0G4
« ) Bl
c 91
d) 100

23, Find the odd number from the given
alternatives :

[a) 339
b) 326
(€) 428
() 338
03, fay wu frwcdl #§ R W W 9LH W
fa) 339
(b) 326
fc) 428
o(d) 338

Direction (24-25 ) : Select a figure
from the Answer Set (figures a, b, ¢, d)
which would continue the series indicated by
the four figures of the Problem Set (figures 1,
2, 3. 4).

24, Problem Figures (75 Si@ad)

<[<|LJ] ?

@ @ @

Answer Figures (FT% afei)

F

_QQ Q)

) = i)

26, Problem Figures (0¥ GE.EPFT’I i)

=~~~ ~ |
IE)IE) ?
| Oiféﬁ ]
(1} [2) {3 (=)

Answer Figures (@R ST5f)

AR

(m] (L) L «(d)

26, Who of the following was nol a member
of the Interim government established In
1946 7

la)  Dr. John Mathai
(b) Sardar Baldev Singh
fc)  Achyut Patwardhan
d) Jagjivan Ram

260 @ 1946 AT S TN 5
Haw L 7

@ o Wi e
(b) R doey [
(¢) ¥egE EaEn
(@) T I

27. Who, among the following, had started
Amrit Bazar Patrika ?

(a) Shishir Kumar Ghosh

(b) Girish Chandra Ghosh

(¢} Harish Chandra Mukherjee
(d) S.N.Banerjee

(B9)



27, Prfafes § 9 smE TR o ) yeom

fret a9 7

(@) TR TER AN
by Fw =g O

(o) EW SR g
(d) T T,

in comparison Lo earth, on the surface of
the moon-

la)  Both mass and welght of an object
become less

(b} Mass of the object remains the
same and only its weight becomes
less '

lc] Only the mass of the
* becomes less

(d)  Both mass and welght of the objeét
remain unchanged :

object

28, Al 6 g A, AR 9w W

(a) gﬁ;,fﬁrﬁwrrmamm?.’rﬂm&m]ﬁ-

(b) % @ FEAM Rem v &R da
HIX 9 B i #

(d) T W EEEE S AR SRaf
W £

29, The longest day in Australia would

narmally be on
,la) 21 June

(b) 22 September

(¢) 22 December

(d) 23 March

o9, i fofl @ sifeom § e d0 i

B 2.7

(al 21 97
) 22 fEw
fc) 22 fA%H
(d) 23 ﬂﬁ

J0.

30.

31.

The difference In the duration of day
and night increases as one moves from
the to the

(@)  Equator, poles

“(b)  Poles, equator

(¢} Trople of Cancer, Equator

(d] Trople of Cancer, Tropic of
Capricorn

FAE-TH BT e T i . B R wad €

fam afre v 1 armfir A Sfrw zgan o 2|

() P, el

(b) o,

() @ v, e

() T @, AER Y

Which of the following places is likely to

have time ahead of Greenwich Mean

Time (GMT) 7

{a) Lisbon

(b)  Baghdad

(€] ‘MNewYork

ald)]  Buenes Alres

31. frefafen & & fow v o1 s i

(B-9)

T (OMT) ¥ 3T T B e &

(c) “uTa
()
Cansider the following statements :

. Boundary between North and South
Korea is marked by the 17th

parallel,

2. Boundary between USA and
Canada is marked by the 38th
parallel,

Which of the above statement/

statements Is/are true ¥
(a) Only 1

(b)  Only 2
.lc)  Both 1 and 2

() Neither | nor 2



qg.  fAawifsieg WAl 09 A9 &Y

| e oy wiior @R @ dE A W
Rt 178 amrien vam @ E

o, iy voa il oy werer & A
1 ferivor agdl e Ya & 2
Juen W @ wE-d /Y B e BT

(a)  WEA 1

(b) @ad 2

@) 1 3R 23

(@) AT 1A 2

33. In which year did Lord Hardinge cancel
the partition of Bengal ?

[a) 19711
(h) 1904
dc) 1906
(d) 1907
33. ol gifd & 9w o e ad
fa) 1911
(b) 1904
(€] 1906
d 1907

34. Which person of .Jngdlﬁhptn had ;lt::i_
revolutionaries during the revolt of 1857
A.D.

(a) Kunwar Singh
.{b) Balbant Phadke
(c) Tirat Singh

(d) Ram Singh
34. mﬁfmmm;aammmﬁ

(a) &av RE

(b) dEEd BIEE

() dNd R

(d e

statements

35, Consider the following
and  Auditor

regarding  Comptroller
General of India (CAG) :

1. The Comptroller and Auditor
General ol India  secures the
accountability of the execultive g

the Parliament,

2 The CAG has no power to enforce
the audit findings.

Which of the statements given above
is/are correct ¥
.(al 1 only

(h) 2 only

(¢l Both 1land2

(d) Neither 1 nor 2
45, WG ® FUEs iR AEe WES (CAG) B

g W fmid sgar W R o

. W%Ng @ MgEs U@ AefrEl SO
BT B W9E & 4 SN @)
gefE we & |

2, TE O ORI Y SR @
ol g Ui A8 )

D Ea e s R B n R A B T

(a) T 1

L) w2
€ 18%2F
CIER e

36, Which of the following Union Territories
has representation in the Rajya Sabha ?

1. Puducherry

+ 2. NCT Delhi
3. Jammu and Kashmir
4.  Ladakh

Select the correct answer using the codes
given below :

(a) 2 only
(b)  2and 3 only
(e) 1,2 and 3 only

(d 1,2, 3andd4
UL L

(B-10)



e S

L %]

16

I

e A @ R oo i s 0 IR
vl B ‘.15?11.5'51?-15'3 ﬁ )

L g

o e womE & e R

g, ] ol W

i oL

4 fir T me @ Wt A e Y
() “#d 2

(b) dE 2R3

f¢) a1, 2803

() 1.2 3374

Which of the following wril secures the !

personal freedom 7
(al Habeas Corpus
(b)  Mandamus
o) Certioran
(el Cuo-warranto
frferfaa # @ el e e @ @
el @ & 7
(a) ) SR
(b) YR
(c) e

o) HIAEN T

Under the Constitution of India, which
one of the following is nol a
fundamental duty?

() To uphold unity and integrity of
India,

(h) To protect and improve the natural
environment,

To pay the tax [acilitating the

el 1
welfare state.

(] To renounce practices derogalory
to the dignity of women.

39,

(B-11)

| 39.

e e aveten @ 8 7

(@) s, ot e ol S @ A Y

) o wataer ] v W GIR A

(o awmd woa @ g # Ry s
'_'PTHW e

a  ifverst A onfte #feg SRS
v i e

Consider  the following  statements
regarding judiciary |
1.  Every law passed by the

Parliament needs approval of the

Supreme Court.

9. Judiciary can strike down its own
judgment If it goes against the
apirit of the Constitution.

4, Any cltizen can approach the court
if his/her fundamental rights are
violated,

Which of the statements given above
\is/are correct ?

{a) 1 only
[hj, 1 and 2 anly
(¢ 2 and 3 only
@y 12and3
%mﬁﬂh # i wed w faR
pr——_—_ R
AR & S ) s W
o wgruite ane g @ W @R w8
ufy ap s # wEe & s 8
g, i afrew ) YeeE B W AU W
< g o AR ST w0 aar] Wee
ammn g |
wa wwAl H -/ Q |6 §/8 7
() P )
b)  #4d 1 #N 2
(c) @del 2 3% 3
) 1,233

M AW



40, Economle growth is usually coupled
with:

{a)
(b

Deflation
Inflation
(¢) Stagfation
() Hyperinflation
fr 9w g snfte P @ wsR
g7
(a)
+ [b)
(e
(d)

Which Article in the Indian Constitution
is related to the establishment ol the
Election Commission of India ?

{a) Article 324
{(b) Article 148
() Article 342
(d) Article 325

40,

41,

41.

(d) ST

42, Who is the Chairperson of the National

Commission for Women at present ?

3. Who among the following have held the
: um:;-. of L!uzs Vice-President of India?

I.  Mohammad Hidayatullah
9. Fakhruddin All Ahmed
3, Neelam Sanfiva Reddy
4, Shankar Dayal Sharma
Select the correct answer using the code
given below |
(a) 1,2, 3andd
(b) 1 and 4 only
() 2and 3 only
(d) 8and 4 only
Fsafeyfire 8 4 fav- e ) Wk @ o gl
&1 7a e & 7 |
4. TR TUE T
A e T @ e SRR g
W 12398
wadl 134




dih.

40.

46.

47.

47.

Who among the follows "
CEOQ ol the NIT1 Nl}lng 9 b presently

fa] * Amitabh Kant

b BV R Subrahmanyam

[l 5. 5 Mundrm

() Soumyi Kantl Ghosh

T # A ST o go aho ww # 7
(al S @

() 0 d0 S0 Farem

(c) VW0 §H0 R

(@) i

A major portion of our bodv's welght
made up of % =

JJo) Bones
(b) Walter
(€]  Organs
d) Skin
TN TR T AR W SRem e
& @ g 8 |

(a) Ef?i"ﬂ’l #

b) G

main cereal Inl'.h:lrdltL pmptemﬂ'
from

la) Pellagra

(b Seurvy

{c) Beriberi

(d) Osteomalacia

4 %, fore difeee aee 5 e 8 o

48. Einsteln got his noble prize for :
fal  theory of mhu'ﬂt;.r
«[b)  Discovery of neutrons
el gravitational law
(d)  none of the above
48, WTEE W S e g e
() TR W R @ R
) h & erd % 3y
(8] ‘Iﬁﬁlmi‘”l foga & ferg
(@) & @ 0
48, One Horse-power is equal to |
(n) 846 W
JAb) 724 W
e} 964 W
) 7a6wW
48 TH FwE-nEn § W R -
B46 W
724 W
ly m w
d) 746W

The, main purification/separation
rocedure used In petroleum industry is:

(e} ™ AT
(d) ST

51. Second generation computers can be
characterfsed largely by their use of—

<a)  artificial intelligence
b} vacuum tubes
(c) microprocessors

(d) transistors

(B-13)



sy, fdm o) wgesd W W A g - = ﬁmﬂr ﬁ:ﬁﬂ'\' wﬁﬁwﬁ
P A 87 ¥
(b) e 2 (a) CPU
(c)  TEBIAIRIER (h)
() gy () uré
52. Desklop computers, laptop computers,
tablets and smartphones are different (d) g
tvpes of 55. Which one among the following is a main
fa) supercompulers system m'ﬂf a computer ?
(h)  mainframe computers la) CPU
() microcomputers (b)  Keyboard
() minicomputers (¢)  Microchip
52, el wnged, Sty e, daocy R . () Motherboard __
ey A m SO - 2| 55, m#%mw meﬁm
(a) U PR wl CPU '
(b) e e o
fc) wEgE Eﬂ@# A
(@) firfr wes ok B
53. Who among the following is called the : e e
father of supercomputing ? . B6. Shift, Ctrl, Alt are examples of which
(a) Ken Thompson o Eﬂiﬂmm?
) Alan Perlie ; fodifier keys.




59.

cAD §1 W ¢

) TR SRS fawE
b AR U8 R

o s sfiefed fewe
) EREY UES TS

what is the term used for temporarily
stored data ?

) Miscellaneous data
(b) Cache data

¢} Pick data

(d) Tempo data

saen w0 @ wade o @ fo wm
T el IR e

(@ fafte S
b} FI =l
)y e =
(@) &

Which of the following Is not an open

source software ?
*fa] Linux
) Microsoft Office
(e} Mozilla Firefpx
(d) Ancraid i
e & ¥ F—a ol AT e A8 &7
{a) TETHRI
(b) HIEETETE i
(c) e HraRmiad

(d) oIS

Which process refers to the starting of a
computer and the loading of the required

parts of the operating system Into the
RAM ?

(a) Swapping
(b) Bouting
c} Mapping

(dl Tagging

) wAf
1) Il
@ Al
(@) e

Directions (61-85) : In the following
questions, out of the four alternatives, select
the word nearest in meaning (o the word

given,
61. Double Entendre
fa) Wager
(b) Boring repelition
fc) Phrase with two meanings
Jd} Double standard
62, Clreumlocution
fal Grammatical ercor
JAb]  Caution
[c) Diversity
1d) Wordiness
63. :EﬂﬂUEtﬂmpﬂ
, {a)  IMegal goods
[b) Embarrassing mishap
[e) _ Restlessness
) 64. Catharsis | |
fa) Emotional release
| (B) Extreme exhaustion
Jc)  Intensity
{d) Exhibition of courage
65. Relinguish
.lal To give up
(b} Enjoy
(¢} Circumscribe
{d) Take pleasure
Directions (66-70) : Choose the
allernative that is most nearly opposite in

meaning to the given words,

66. FORTITUDE
fa) Timidity (b) Laxity
[} Placidity [d] Ambition

A

(B-15)



67, LACONIC

(a)  Tors (b} Loguacious
(el Curt [l Sagdicions
68, RENEGADE

(a)  Traltor () Heretlo
Je) Loyalisl (dl Fugitive
59, PUTRID

fa)  Fresh (b Rancid

()  Recondite Jdd)
70. PLENARY

Ia) Restricted

Choleric

(b) Confidential
c]  Mysterious (d) Basic

Directions (71-756) Choose  the
alternative which best expresses the meaning
of the given idioms/proverbs :

71. Toread between the lines
(a) to suspect
bl to read slowly

(]  to understand the hidden meaning
of the word

(d) to do useless things
72. Between the devil and the deep sea
(a) a deep seadiver
()  to be evll tempered
(e} in a dilemma
{d) a man who is drowning

79 To be born with a silver spoon in one's
mouth

A{a) to be born in a rich home

(b) to be born in a jeweller's home
(c] to be fed milk with a silver spoon
() to be a first born child

74, To beat about the bush

(al notto come to the point

[h) wvigorous search for the culprit

(¢) easily achieved success without
much effort

(d) working hard to achieve the goal

75.  On the spur of the moment

(a) @t once or withoul any Kind of
deliberation

(b In accordance with the prevalling
style

(¢} open to blame

(dl  on the side of something

undesirable
Directions (76-78) : In the folowing
questions, some part of the senlence may
have errors. Find out which par of the
sentence has an error and selecl the
appropriate option. If a sentence IS free from

error, select ‘No error’.
76. He ordered (a)/ as Il he (h)/was my
master ¢}/ No error (d)

77. 'The merit (a)/ of these books (bl/ are
known to everyane (c)/ No error (d)

78. The condition of (a}/ people living in

(b} /rural area are very bad (¢}/ No error

(el)

Directions (79-80) : Each sentence
helow has two blanks. Chogse the alternative
to fill up the blanks that best fits the meaning
of the sentence as a whole,

79, The ___ tactics of the party drove the
T ecommunity and all hell broke
loose.
(@) dilatory, berserk
(b) timely, crazy
(¢} opportune, wild
(d) apposite, excited

80. The chiel him of his
administrative powers and him to
the Bahamas.

fa) invested, shipped
Jb)  augmented, deported
(e) imprisoned, sent
(d) divested, deported
§1. Life history of a man writien by himself is
called :
([a) Bilography
{b) Autobiography
(c) Calligraphy
(d] Bibliography

(8:16)



pirections (82-85) : Read the passage

| then AnNSWer the questions based on it

-”':_ e required (o select your answers based

"I"l:_: '”..”, contents of the |JHHHH_EI!! and npin]u“ of
(e author only.

PASSAGE

crude mineral oll comes oul of the earth
s o thick brown or black Uguid with a strong
_mell, It is a complex mixture of many different
ubstances, each with 1ts own  individual
qualities. Most of them are combinations of
hvdrogen and carbon in varying proportions.
such hydrocarbons are also found in other
forms such as bitumen, asphalt and natural
gas. Mineral oil originates from the carcasses
of tiny animals and from plants that live in the
S,

Over millions of years, these dead

creatures form large deposits under sea-bed

and ocean currents cover them with a blanket

of sand and silt. As this material hardens/ It |
becomes sedimentary rock and  effectively

shuts oul the oxvgen, so preventing’ the
complete  decomposition  of the marine
deposits  undemeath. The
sedimentary rock become thicker and heavier,
Their pressure produces heaty Wh[d"

-

transforms the tiny carcasses into crude oil In
a process that Is still going on today.

82, Marine deposits underihe seadonot get

decomposed because they :

(a] become rock _nnﬂi_;prwﬁt-. ﬂﬂﬁ’ den.

from entering them

(b] are covered by the sand and silt
brought by the current which after
becoming rock shuls oul oxygen

(¢) contain a mixture of hydrogen and
: carbon

(d) are constantly washed by the ocean
ourrent

83, Sedimentary rock leads to the formation
of ofl deposits because :

fa) It becomes hard and forms inlo
rocks which produce oil

(b] Its pressure produces heat and
turns  the deposits  of  animal
carcasses and plants into ofl

layers of

85,

(B-17)

fe] It turns heavy and shuts out the
OxXygen

() It becomes heavy and hard and
applies pressure to squeeze oil

In order to have mineral oll, hydrogen
and carbon are combined in ;

fa)  egual proportions

b} lixed proportions

(c) varying proportions

(d) the proportion of two and one

The time it tukes for the marine deposits
to transform Into crude ofl §s

fn) & few years
(b) thousands of years

(¢) hundreds of years

(dl  million of years

() W I T B A T

(b) T A T ST F WS

(©) @ 5o WEw & - A 96 19

(@) o TEY o ER | T
VI
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